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Question 1.Select the related word/letters/numbers from the given
alternatives:

f&d T foredt & @ Jaf-Aq rea/ 31eRl/wdT ! T
Book:Pages::Wall:?

U&dh : U6 & EaR : ?
Options:

1) SAND

X

2) CEMENT
e

3) BRICKS
gc

4) STONES
Ty

Correct Answer: BRICKS
£

Candidate Answer: BRICKS
3¢

Question 2.Select the related word/letters/numbers from the given
alternatives:

Rt T et § @ Wi STe/areR /a9

LNPQ : ACEF :: TUXY :?
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Options: Downloaded from www.qmaths.in
1) IMKL

2) IKMO
3) IKMN

4) PKLR
Correct Answer: IKMN
Candidate Answer: IKMN

Question 3.Select the related word/letters/numbers from the given
alternatives:

f&d T faeneal 7 & Haf-Aa 2reg/37erRl/d=dt ol Al
4:20::8: 7

Options:

1) 74

2) 70

3)72

4) 78

Correct Answer: 72
Candidate Answer: 72
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find the odd word/letters/number from the given alternatives.
(A) Bud (B) Branch (C) Leaf (D) Plant

Q71 foeredt & & fauw 2reg/<wn/sier gyl
(A) aeft (B) e (C) T=it (D) derm

Options:

1) A

2) B
3)C
4)D

Correct Answer: D
Candidate Answer: D

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

feq 7y faereat 7 O faww <rec/Twan/sier g IRy
(A) ABD (B) FGI (C) LMO (D) STU
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1) A

2) B
3)C
4)D

Correct Answer: D
Candidate Answer: D

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

feq 7q faereat & O fawy <ree/ T/ sier/de | gAy|
(A) 24-42 (B) 36-63 (C) 37-73 (D) 35-51

Options:

1) A

2) B
3)C
4)D

Correct Answer: D
Candidate Answer: D
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Question 7.Arrang@\WeoRMBNMIF WEr4Y- 9838 S Hder in the

dictionary.

fferfa Sreal ht STecen!sl o thA & STTUR SIafd hifod |
1. Manifest 2. Meticulous 3. Meridian 4. Merchant
Options:

1) 1,4,3,2

2)2,1,4,3
3)1,3,2,4

4) 2,3,4,1
Correct Answer: 1,4,3,2
Candidate Answer: 1,4,3,2

Question 8.Which one set letters when sequentially placed at the
gaps in the given letter series shall complete it?

18R} Rl hIH-HT GHE Weil WIMHI TR shATR & & 1 713 38R el <hl
ORI ST ?

M_OMMN__M_NOMMN__M

Options:

1)ONMO

2)NOMO
3)MONM

4HNNMO
Correct Answer: NO M O
Candidate Answer: NOMO
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Question 9. WhiclP RABEARMH M- taadBRde?

fAfead & € uft t splH-91 ik gut ham?
14,27,52,101,198, ?

Options:

1) 381

2) 395
3) 391

4) 394
Correct Answer: 391
Candidate Answer: 391

Question 10.M is son of P, Q is the grand-daughter of O, who is the
husband of P. How is M related to O?

M, P &1 3 8, Q,0 <hi Uit &, St foh P AT ufd @1 M T O & oRIT Sa=e g ?
Options:
1) Son

kel
2) Daughter

3) Mother
HIdT

4) Father
foram

Correct Answer: Son

kel

Candidate Answer: Son

kel
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Question 11.Rande3W MAREIFEL AR SUSHIBEGIRYA is less rich than
Ramesh. Ram is less rich than Jaya but richer than Satish, but is
not as rich as Ramesh. Ramesh is less rich than Navin. The richest
amongst them is?

THLT, Falr 9 e 3R g foheg 74T, THL & A THR g1 IH, 57T & hA
3R g foheg Tdizr & sifdep 3R g oifch ag A fSia-r R 98t 81 Ay,
T & A HR g1 I8 T I 1Ak IHR vl 82

Options:

1) Ramesh

THT

2) Satish

galsr

3) Navin

ECIE!

4) Jaya

oigT

Correct Answer: Navin

T

Candidate Answer: Navin

=

Question 12.From the given alternative words, select the word
which cannot be formed using the letters of the given word:

ffefRed fareut & 9 ag e g3 oY fT 71T 21eg & 378RY &1 TANT s
g1 IFTIT ST YehdT &
CARPENTER
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1) NECTAR

2) CARPET
3) PAINTER

4) REPENT
Correct Answer: PAINTER
Candidate Answer: PAINTER

Question 13.1f FRIEND is coded as HUMJTK, how can CANDLE be
written in that code?

gfe FRIEND pl fordY ehie wmem & HUMJTK forat Sirdar g at 39t srte |
CANDLE ah! g ferar Srae 2

Options:
1) EDRIRL

2) ESJFME
3) DCQHQK

4) DEQJQM
Correct Answer: EDRIRL
Candidate Answer: EDRIRL

Question 14.1f A denotes -, C denotes %, D denotes +, E denotes +,
then 14C3A12E4D2="?

gfE A, - ol UefTd a1 8, C, x ol Ucfd eedr &, D, + ol Ucfid edr g,
E, + ant UefTd eedr g, df 14C3A12E4D2=?
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1) 6

2) 17
3) 28

4) 32
Correct Answer: 32
Candidate Answer: 32

Question 15.1f 879= 8,
625=1,

586= 9,

then 785 =7

gfe 879=8,
625=1,
586=9 @I,
dr785 =7

Options:
1) 6

2) 7
3) 8
4)9

Correct Answer: 6
Candidate Answer: 6
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Question 16.Find}A¥ARSsiRg Hemper s aieSilen alternatives:
feq q faehedl # T T e A1d Shifoid |

8 7 6

7 b 5

& 5 4

90 65

Options:
1) 54

4) 26
Correct Answer: 44
Candidate Answer: 44

Question 17.Sham goes to his friend's house that is straight 10 Km
from his house. On his way back, he takes a right turn and walks 2
Km and again takes a right turn and walks for 10 Km before he takes
a right turn again. How much distance is Sham still away from his
house?

T 370 A3 o 5 ST € S I4eh 0= & Hiem 10 foh.#Y. ¥ g1 arug adted
IHY I8 3¢ Heom 2 foh. Al Terdn @ 3R 3¢ Hg SI7ar 81t 9 g He- 9
Uget dg 10 foh. |l Terdr g1 g/ 371t o} 31U R ¥ fehail a8 ?
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1) 10 Km
10 fop. .

2) 8 Km
8 fon. 4.

3) 12 Km
12 fop .

4) 2 Km
2 fop .

Correct Answer: 2 Km

2 ..

Candidate Answer: 2 Km

2 fer .

Question 18.0ne or two statements are given followed by two
conclusions, I and Il. You have to consider the statement to be true,
even if it seems to be at variance from commonly known facts. You
are to decide which of the given conclusions/assumptions can
definitely be drawn from the given statement. Indicate your answer.

Statement: All boys are tall.
Rajiv is a boy.

Conclusion I: Rajiv is tall.

Il: Rajiv is not tall.

I ues a1 g gaaey U U g STk St &t fAsasl/ar=arny, | SR || Rt
T &1 31TUch! fAIR AT & foh gaded 9 ¢ T8 98 9H=d; J1d 92 O
O~ gdfta gt 811 3mueh! f[Hufa &1 8 foh iU 71T gamea & @ si=-ar f[Afga
®Y g gt fAsent/Ar=adT fAehTaT ST 9ehdT g1 3TU9 IR aht [Afése hifsig|
YA : ] dSh o &1 ASiig Sl o

fArsepe: |- Iia e B

fArsepe: 11-3rstia <1 781 8
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1) Only conclusion | follows

chael [Asny | Il gl

2) Only conclusion Il follows

chaet A=Y || Iat gl

3) Both conclusion | and conclusion Il follow

freeny | 3k fAseRd |1 St Tgt &

4) Neither conclusion | nor conclusion Il follows

A sy | T8l g SR 7 Awhy ||

Correct Answer: Only conclusion | follows

chadl [Asny | Il gl

Candidate Answer: Only conclusion | follows

chadl [Asny | Il gl

Question 19.How many triangles are there in the question figure?

f&q Qg Uy s A o AT 8 2

Options:
1) 6

4) 16
Correct Answer: 16
Candidate Answer: 16
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Question 20. WhicdAYT HRABHOWRG WAGY s ESrEsent the

relationship between Awards, Pulitzer Prize and Oscars?

ffeifEa # 9 ohlH-91 IRE [REAR, Jfelcok TRERR 3R 3 o i ey
eifdar g ?
Options:

A
N—

Correct Answer:
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Question 21.Which answer figure will complete the pattern in the
question figure?

ohI=-Ht IR Tehid U Tehid oh U ohl GRT Rl ?

J)

N
A\
/]
7/

(£ 1\

14
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1)

A

A\

Correct Answer:
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/)

e
-

e

Question 22.From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1 773 IR ATepiadl H F IR MTepid hl Y foigd g 3iepid g 81

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1)

2)
IR
3) |
S EERRRaaE
Ziinmaas an
4) |
. __...;_F._,%__E_
K

Correct_ Answer:

Candidate Answer:
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Question 23.A pidd@'¥PIasEd SrIRB UM BRES- Bhown below in the
question figures. From the given answer figures, indicate how it will
appear when opened.

U HTpiddl | fGETY AR TSI hl HISH hic dUT Wi o 91 I8
foRg IR STIopfd o fews g 2

;“"  | Bid
st 5
Options:
1)
ARRREE
o .'i._ [}
o
2)
P P Y
s s
3)
.o . l'z!__
4)
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- P L . e

Candidate Answer:

|
|
.
|

Question 24.If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?

& Yeh SUUT ht MN @1 UR QT ST ot & 778 IR SATepfadl H § -4t

TR U 3Tepfa ht Tt ufafa giift 2
' 1//1>X ;
/ /S /
TN i 4
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1)
i

A \'\\_ 1|
\ —- .

P,
0N

T T T I.

"4
v/

Correct Answer:

Candidate_ Answer:
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Question 25.In thiYURARALHEUBLY WiHBMBES-Yiven in the
alternatives are represented. The columns and rows of Matrix | are
numbered from 0 to 4 and that of Matrix Il are numbered from 5 to 9.
A letter from these matrices can be represented first by its row and
next by its column, e.g., D can be represented by 04,12, etc.,and 'I
can be represented by 65, 79, etc. Similarly you have to identify the
set for the word '‘BANK..

ek 216G thael Yeh TAT-HHg gRT &AT1 71 8, Wi foh fdeheut & & fohddt uer A
f&am T 8| faehed ® 1T Y T Tg 18RI o & Il gRT &R0 71 8, oY
for = f4Q g & Srregel 7 81 3T | & W 3R U<h! ot =1 0 9 4 3R
Mg 1 Y 5 9 & 1S &1 37 STegl § Ueh 31eR i Uget ITh! U=ht 3R s
T TR G&AT gRT AT ST TehdT & | SSTEI0T oh 1Y 'D' <ht 04, 12 31fe gRT
GRITAT ST HehdT § ATl ' &t 65,79 371fe gRT SATAT ST JehdT g1 38 g I
3MYeht f&T U 2rec 'BANK' & folg g aht Ugam=-T 2|

Matrix-1 _ Matrix-1l

0 1 2 3 4 5 3 7 8 9

Options:
1) 42,69,14,98

2) 00,55,33,57
3) 21,67,30,86

4) 42,78,43,58
Correct Answer: 42,69,14,98
Candidate Answer: 42,69,14,98
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Question 26.WhicdRQ¥/ tHeER K SIMLYANV MGG THE following?

RrefafRd § @ w-g arg 9o 9 gar 2 2
Options:
1) Gold

£

2) Silver

N

=

w
S
=

on

S

) Copper

E

Correct Answer: Gold

£

Candidate Answer: Iron

Sl

Question 27.Which of the following uses the spawn mechanism to
duplicate itself ?

ZH T R WA ol Gitetche T & fog Wiv AchfAsH Su-ar g ?
Options:

1) Trojan horse

gier g

2) Worm

aq

3) Keystroke logger
fl-¥leh AR

4) Logic bomb

Aifoieh I

Correct Answer: Worm

ad

Candidate Answer: Trojan horse
ZISH a1
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Question 28.Sun &paleaaded frealodngt - dAd sunset due to
Qe ofR Guied & 99 G o 37 rel ol fearg 3ar & 2

Options:

1) the fact that sun emits only red colour at that time
ik I9 THY I hdel dTel T I fSid hdl 8

2) red light having longer wave length scatters away
ATeT UhTRT T ATT-G & 31fdeh giF oh ShRUT UehivA Sifdes glar &
3) that sun comes out of the mountains

g4 ydal # ¥ fAcherdr 8

4) that all other colours scatter away except red

AT hl B & 3= gt T1 yhifola gt sra &

Correct Answer: that all other colours scatter away except red

AT hl B e 3= Y AT YhiTold g SId &

Candidate Answer: red light having longer wave length scatters away

ST UhIRT ahl aRiT-¢edf 31feieh §IF ch hROT Uchiuie 31fereh gidT &

Question 29.What is the main purpose of white blood corpuscles?

o | A hUTH ShT & TSI SRIT 8 ?
Options:

1) to carry nutrients

UIeh dcd of ST

2) to combat infection

GehHUT T TUY hAT

3) to carry oxygen

SN ISTT o STHT

4) to give strength

*Tf<h UG heAT

Correct Answer: to combat infection
GehHUT T TUY eheAT

Candidate Answer: to combat infection
GehHUT T TUY eheAT
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Question 30.The BQ&riRRAE SHEYB I EY M BATpErature with

increasing altitude is totally absent is

I8 URd STg] T8 ¢+ oh JIY-H1Y dTUAM H folegpel hHT A8l gl ?
Options:

1) Troposphere

gfHSd

2) lonosphere

SMTHSA

3) Stratosphere
gAAUHSA

4) Mesosphere
AgHSA

Correct Answer: Stratosphere
JHAdTIHSA

Candidate Answer: lonosphere
ATIHS

Question 31.At hill stations, the boiling point of water will be

UddI &It | STel ohl Saf-ich &RIT g ?
Options:

1) same as at sea level

Jgl Sl 9= dcl W gidT 8

2) less than that at sea level

T = Il UR gidT g, 394 A

3) more than that at sea level

T 9= deT R gidT 8, 394 319k

4) equal to the melting point of ice

th h TTeI-Tich oh SRR

Correct Answer: less than that at sea level
T 9= deT R gidT 8, STY hd

Candidate Answer: same as at sea level
Jgl Sl < dol W T 8

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 32.GandMij¢"S362G AR MEANOSTPAREERment to the

following two elements

Tiefisht o g s Refafaad 7 § fohl 3 @ e g 2
Options:
1) Knowledge and religion

A 3R H
2) Truth and non-violence
Tears ofi sifgan
3) Truth and chastity
TS 3R IERdT
4) Love of motherland and hate for colonial masters

AT & TR TR SR SNufaRie i & wid gon

Correct Ansvyer: Truth and non-violence
g=aTs 3R Srfgdr
Candidate Answer: Truth and non-violence

geaTs 3R Sifgar

Question 33.What do you mean by 'Density of Population'?

SIS 99’ O 31TT -7 99 & 2

Options:
1) Ratio of people living below poverty line to total population

TRIS @1 & =i I aTel ST AT el STHEET 3 Ut

2) Number of persons live per square kilometre

ufd et foh. At H I arel <1l <hl He&T

3) Number of persons in a city
foh<it 18R # g+ aret cafwhal <l e

4) Number of persons living per kilometre

ufa fop.#t. T aret cafeat 6 g

Correct Answer: Number of persons live per square kilometre

ufd g fen.Ht. | Ig aret < hi T

Candidate Answer: Number of persons live per square kilometre

ufd et foh. At ® I arel <l chl He&
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Question 34.WhidAUT RIRAGHOWRG 14 ¥t 4 Tedtidof a capitalist

economy?

FferfEa & 9 onta-4t 'geiiard) srifcgear i faivdr =81 g ?
Options:

1) Right to private property

it i ot SrfdehR

2) Existence of competition

gfaafiar g

3) Service motive

JaT- ST

4) Freedom of choice to consumers

SUHTRITSHT ehl AT hl Ta=Icl

Correct Answer: Service motive
SaT-TAT
Candidate Answer: Service motive

TdT-ugtST

Question 35.Sunita Williams is a

g faferam g s g 2
Options:

1) Astronaut

Siafer arit

2) Missile scientist
ERGIESACRIE]]

3) Nuclear scientist
Tif9ehT dafen

4) Astro physicist

3idRker Wifae-fagmt
Correct Answer: Astronaut
Siafer arit

Candidate Answer: Astronaut

RIS

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 36.Who FowR!oa#er SR Ao 2888k "Kabuliwala'?
Uil Y&deh ' ShIelIaTell ' o oIch hi-l 872

Options:

1) Bankim Chandra Chatterjee
Sifehd T TeSil

2) Ravindra Nath Tagore
v A1 &R

3) Munshi Prem Chand

gt un =<

4) Khan Abdul Gaffar Khan
GT 37sgel THRAR &

Correct Answer: Ravindra Nath Tagore

fereg A TR

Candidate Answer: Munshi Prem Chand

o=t U T

Question 37.The term 'bully’ is connected with which sport ?

Selt’ 2Tec Rl TN fAAfeed 7 9 e & @et | foran Siran g 2

Options:

1) Cricket
fohche

2) Hockey
glch!

3) Badminton
A=

4) Tennis
AC |

Correct Answer: Hockey

Candidate Answer: Hockey

glcht
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Question 38.Who RfuHgseet famwingvireatizidhas been the
recipient of the Rajiv Gandhi Khel Ratha Award?

ffeifaa | 9 i ugeta ol 'Tsita e @l It qREAR' i mam o7 2
Options:

1) Vijender Singh

ENEATT

2) Sushil Kumar

gefiter pAR

3) Anand Kumar Singh

3T HAR &g

4) Zoravar Singh Faujdar

SIRTeR {88 hisier

Correct Answer: Sushil Kumar
geiter pAR

Candidate Answer: Sushil Kumar

gafter pAR
Question 39.Siderosis is a disease caused by the inhalation of

ASHTdT Teh I § SI A1 &h 91 fAfeilRed & & T e o+ I glar 87
Options:

1) silica dust

fiferenT get

2) iron dust

SIERC

3) zinc dust

ST (foieR) et

4) coal dust

I

Correct Answer: iron dust
olig-4e

Candidate Answer: iron dust

ofte-4et
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Question 40.The AN BGSIEHedRgVWwW.qmaths.in

CIATEl T T AIA BT 87
Options:

1) a land between two mountains
&t udialt & ot Y ffy

2) a land between two lakes

& eftert a e ot oy

3) a land between two rivers

amaﬁnﬂeﬁrgﬁ

) a land between two seas
?ﬂﬁﬁﬁﬁaﬁﬁﬂéﬁfﬁ#
Correct Answer: a land between two rivers

&) Afa o o oY Sy

Candidate Answer: a land between two rivers

&) AR ah o ot Sy

Question 41.Which of the following is used as anaesthetics?

ey & Tu d Afafaa & I o v fohar SITdar § 2
Options:

1) No
2) N,O
3) CHy

4) CO,
Correct Answer: N,O
Candidate Answer: N,O

Question 42.Clove is obtained from

oI foherd UTe gl § 2
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1) Root
vis

2) Stem
SEI

3) Leaves

g

4) Flower buds
Tocl <hl chedl

Correct Answer: Flower buds

Tl <hl chedt

Candidate Answer: Flower buds

Thel hl Shedt

Question 43.What is Dakshin Gangotri ?

feror Tt R 8 2
Options:

1) River valley in Andhra Pradesh
8T TSRT | ¢ a7t

2) Unmanned station located in Antarctica

Jicrhieant 7 f¥a warfeld WA

3) Second source of River Ganga

TAT <7< hT &R &ld

4) Island in the Indian Ocean

WRAT 9= # [*d giu

Correct Answer: Unmanned station located in Antarctica
Sicrhieent # f¥a warfeld WA

Candidate Answer: River valley in Andhra Pradesh

3= YT | AT T

Question 44.Japan is called the 'Land of the rising sun’ because
SO bl 'ofS 3Tt & SIS I &1 ahgl ST & ?
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Options Downloaded from www.gmaths.in
) Sun rises there as soon as it sets

Wa’lﬁ?ﬁ gaied gl Sl g

2) Sun always remains in the eastern part of the sky throughout the
day in Japan

SITaH # &7 wR g ST A gd fRm A g @t 8

3) Japan being the Eastern most country in the world, it has the
earliest sunrise

<feh STTaT fase & Qe 237 & S gd & g ifdd 8RR R 8, 3rd: agf gl
d Uget Bidl 6

4) The rays of the sun get reflected from the waters of the sea and
make the sunrise beautiful in Japan .

Y < foheul O= o STeT 9 3Udidd gt R ST H Ay ohl TTieieh e
S &

Correct Answer: Japan being the Eastern most country in the world,
it has the earliest sunrise

Jfeh STTaT fasa # UET <1 8 St gd H 9o SifdH ©R W 8, 31d: ggl gaied
He Uget giaT 8

Candidate Answer: Japan being the Eastern most country in the
world, it has the earliest sunrise

Ifeh STTuT faga # QT 321 8 S g A T Sifan 8R R 8, S1: I8 gaied
SERREE RTINS

Question 45.Who was the first Englishman to appear in the Mughal
Court during Jahangir's reign?

STENIR o ehTel H H{ITel SRR H T ITell Ugell SHUST chi- T ?
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1) Paul Canning
qief chf=it
2) Captain William Hawkins
e faferam gifehg
3) William Edward
faferay Tears
4) Ralph Fitch
et foher

Correct Answer: Captain William Hawkins

che faferas gifehg

Candidate Answer: Captain William Hawkins

e faferas gt

Question 46.The' Narmada Water Dispute Tribunal' was constituted
to resolve the water sharing between

forq T8+ forar mar a7 ?

Options:
1) Gujarat and Rajasthan

ORI 3R ST
2) Gujarat and Maharashtra

ORI 3R HERTSE

3) Gujarat, Maharashtra, Rajasthan and Madhya Pradesh
ORI, HERTSE, ISR 3R 7L Uesn

4) Gujarat and Daman and Diu

ORI 99T &0 3R &

Correct Answer: Gujarat, Maharashtra, Rajasthan and Madhya
Pradesh
ORI, HERISE, STRAT 3R LT UG

Candidate Answer: Gujarat and Maharashtra

ORI 3R HERTSE
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Question 47.In wHENWAREHRIBresidumt e sy any of the

functions of the Union Government to the State Government ?

Ui T TRPR bl ahis I i AT 7 @ fohg U 9, 750 TR
h! 919 Jahd & ?

Options:

1) In his discretion

3 faden

2) In consultation with the Chief Justice of India
YR oh H& TR o R 9

3) In consultation with the Government of the State
Y TR I TRTHRT ich

4) In consultation with the State Governor
oY oh ISt I TRTHST hech

Correct Answer: In consultation with the Government of the State
5T YRR Y URTHST hich

Candidate Answer: In consultation with the State Governor
IS oh ISTUTA O TRTHR] Shech

Question 48.Where is the Indian National Rail Museum situated?

AT IeT GUSTTT el AT 8 ?
Options:
1) Delhi
feeet
2) Uttar Pradesh
JedR TesT
3) Punjab
CSIC)
4) Himachal Pradesh
feaTeet uear

Correct Answer: Delhi

feett
Candidate Answer: [ NOT ANSWERED ]
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Question 49.WhicRUY HRARBHOWRIY ¢ Wit HHE Yol Ajanta Caves?

Ffefad & & o reT=1 st & ey | 9gl gl 82
Options:

1) They are in Maharashtra

d AgRTE # f¥d 8

2) They are decorated with Buddhist Art

d &g hell 9§ Giswtd 8

3) They depict the techniques used in Ancient India
d U R H Ugad deh-en! ot &l &

4) They do not contain paintings of flora and fauna
37 Gper-ufRrat & Rt 7 &

Correct Answer: They depict the techniques used in Ancient India

d UTEH YRA | U deh-ichl bl GRATdT &

Candidate Answer: They depict the techniques used in Ancient India

d U R H Uad deh-ien! ot &l &

Question 50.Who was the founder of Arya Samaj?

ST-GHTST oh TXATUH i & ?
Options:

1) Acharya Narendra Dev
R % &a

2) Dayanand Saraswati
[*22] &

3) Raja Ram Mohan Roy
IS M HIgH I

4) Acharya Vinoba Bhave
CIGIACEICIREICl

Correct Answer: Dayanand Saraswati

U< GI&dt

Candidate Answer: Dayanand Saraswati

U< GI&dt
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Question 51.A, B S0 103 GroHOBJeErgB1R8s 580/- A and B

together are to do 7/11 of the work. The share of C should be?

AB 3R C fActer: fohdt M ohl Rs. 550 ® QRT &d 81 A 37 B ol fAeta
hTH <Rl 7/171 | QRT &hAT &1 C AT fg & e ghamm 2

Options:

1) Rs. 200

2) Rs. 300
3) Rs. 400

4) Rs. 450
Correct Answer: Rs. 200
Candidate Answer: Rs. 200

Question 52.In A ABC, the height CD intersects AB at D. The
midpoints of AB and BC are P and Q respectively. If AD = 8 cm and
CD = 6 cm, then the length of PQ is?

A ABC #, 3318 CD, AB aht D WR Tl g1 AB 3R BC o A% fa=g shHl: P
3R QEIafc AD =8 T.H. 3R CD =6 Q.H. g, al PQ i si=s AT § ?
Options:

1) 3cm

3 9.4

2) 7cm

7 QA

3)9cm

0 T .HI.

4) 5cm

5 9.4,

Correct Answer: 5¢cm

53.4.

Candidate Answer: 3 cm

3 4.,
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Question 53.The price of a chair is Rs. 500. It has been sold at two
succesive discounts of 10% each. What is its selling price?

Tk i bl hiFd Rs. 500 &1 38 10% bl &Y ShATTA 3l TR <1 TRT| SHHI
fasra qea R g ?

Options:

1) Rs. 400

2) Rs. 405
3) Rs. 415

4) Rs. 425
Correct Answer: Rs. 405
Candidate Answer: Rs. 405

Question 54.The percent profit made when an article is sold for Rs.
78 is twice as much as when it is sold for Rs. 69, the cost price of the
article is?

STd ohl$ a¥] Rs. 78 H sl STl @ dl SHehl o4 IHT a¥ bl Rs. 69 H dTd W)
g1 ATl ATH T QAT & | I T NTd Hed T & ?

Options:
1) Rs. 60

2) Rs. 51
3) Rs. 55.50

4) Rs. 70
Correct Answer: Rs. 60
Candidate Answer: Rs. 60
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Question 55.In a ARYGUSHIRM SR RS2 s es are enlisted as

'below poverty level'. If 14% of the villagers are below poverty level,
the total number of villagers is?

Qeh UTH UaTad ST § 574 A0 “TRie @1 @ i &t =it 7 anfier g1 afe
Tid & 14% ART TR RaT & = g, @ 71fq aredl it et T fhat g ?
Options:

1) 4100

2) 4200
3) 4000

4) 3800
Correct Answer: 4100
Candidate Answer: 4100

Question 56.A train 240 meters in length crosses a telegraph post in
16 seconds. The speed of the train is?

240 HY. ¥l ¢ Teh SiIUTh WH hl 16 TehUs H UR &hdl &1 ¢ i 1fd
fohaHt 82

Options:

1) 50 Km/hr

50 foh. =t /der

2) 52 Km/hr
52 foh.Ht./ger

3) 54 Km/hr
54 fos #t./ger

4) 56 Km/hr
56 fob.#Y. /g

Correct Answer: 54 Km/hr
54 for.#Y./gar

Candidate Answer: 54 Km/hr
54 for =Y. /gar
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Question 57.1f a%+1 = a, then the value of a3 is

gfe a2+l =ag daS A RIS ?

Options:
1)0

2) 1
3) -1
4) 2

Correct Answer: -1
Candidate Answer: -1

Question 58.

X2
Ifx+ 3y = —3x +y,then 2_3;2 is equal to

2 -
s 4 a5 =gs e 8L N ;—yzaa‘r AT S

Options:
1) %

2) %
3) Y
4) 4

Correct Answer: s
Candidate Answer: %
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Question 59.FronPVeXeasal Hoim v aHgatts 46 a circle are

drawn. The chord passing through the points of contact subtends an
angle72° at the centre. The angle between the tangents is?

Teh a1t famg @ foneft ged Y < ol Jamidi=h 78 & | Sudh g @ gl
TSR dTell STiaT 72° hivT bl dheg TR HATARA hdl ¢ | TRf R@T31i h o< eplor
fohdt |1 &1 BT 2

Options:

1) 36°

2) 72°
3) 108°

4) 144°
Correct Answer: 108°
Candidate Answer: 108°

Question 60.Length of three line segments isgiven. Is construction of
a triangle possible with the segments in the given cases?

dIH I8 WUt i oag <1 1 g1 ok fRAfa A wuet § Brogst 1 fAwior g
g7

Options:

1) 8 cm,7cm, 18 cm

g AL, 7 4.4, 18 9.,

2) 8cm,15¢cm, 17 cm
8 q.dr, 1534}, 17 4.9t

3) 10 cm, 6 cm, 4 cm

10 9.4t 6 9.1, 4 QA

4) 8 cm, 10 cm, 20 cm
8 9.4, 10 9.4, 20 4.A1.

Correct Answer: 8cm, 15cm, 17 cm

8 g Ht, 1534, 17 4.1

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Candidate Answer8V&iRareefion wiw.amaths.in
8 g, 153,17 4.4

Question 61.If sinB+ cosecB=2, then the value of sin"/6 + cosec’6 is

gfe sinB+ cosecO=2 g al sin"/0 + cosec’O HT AT RITE ?
Options:

Correct Answer: 2
Candidate Answer: 2

Question 62.A man has some hens and some cows. If the total
number of heads of hens and cows together is 50 and the nunber of
feet of hens and cows together is 142, then the number of cows is

Tah STTGHT o UTY o JiRT ofk o8 T &1 afe gRfa ofk T & Rt i e
&A1 50 g SR gRt gd Tt o ORi bl HE&AT 142 g, dt Tt ohl e fohd=t
g7

Options:
1) 21

4) 29
Visit WW.M%‘Q.?F%? tons of free study materials and latest exam updates.
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Question 63.In a class, average height of all students is 'a’ cms.
Among them, average height of 10 students is 'b' cms and the
average height of the remaining students is 'c' cms. Find the number
of students in the class. (Here a>c and b>c)

fordtY cpetm § 9oft S ot ofiad s 'a' 9.1, 81378 T 10 S i 3figd
oaTs 'b' T4, g 3R AW BEI ahl 3Gd e 'c' . 4t &1 el d S
=T T hifSig ?

Options:

1)

(a(b—c))/{a—c)

2)

((b—e))/((a—c))

3)

(b—c)/(10(a—c))

4)

(10(b—c))/(a—c)

Correct Answer:
(10(b—c))/{a—c)

Candidate Answer:
(10(b—c))/(a—c)

Question 64.

The simplified value of
37 5v5 & FAYF
VE+VZ VZHNT AT+AE

3 \,-',? 5 \,"'E 2 \.I'E
St a7 | Yids

T {7

&I Telled Al
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1)0

2) 1
3)5
4) 6

Correct Answer: O
Candidate Answer: 0

Question 65.If (a+b-6)2 + a2+b2+1+2b = 2ab+2a, then the value of a is

gfe (a+b-6)2 + a2+b2+1+2b = 2ab+2a &, af a &1 A9 T &?

Options:
1)7

2) 6
3) 3.5

4)2.5
Correct Answer: 3.5
Candidate Answer: 3.5

Question 66.Two circles of radii 17 cm and 8 cm are concentric. The
length of a chord of greater circle which touches the smaller circle is

17 418, 3R 8 8.1, Biour aret @ ged THReh &1 B2 Jed ol W A ATy
52 ged 1 ST e 2 2
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1) 15cm
15 3.4t

2) 16 cm
16 T,

3) 30 cm
30 4.4t

4) 34 cm
34 Q4.

Correct Answer: 30 cm

30 9.H.

Candidate Answer: 30 cm

30 9.HI.

Question 67.The least six digit number which is a perfect square is

G BI] B 3ich! dTell I8 hi--Hl §&AT ¢ STt gui @i g 2
Options:
1) 100489

2) 100000
3) 100256

4) 100225
Correct Answer: 100489
Candidate Answer: 100489

Question 68.The percentage change of a number when it is first
decreased by 10% and then increased by 10% is

STe fehdt T<=AT oht Uget 10% G SITdT & iR fthe 10% F&/™T SIdT § df, 39
I3 H fohas ufasrd ufkad=r g 2
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1) 0.1 % increase

0.1% gl

2) 1 % decrease

1 % chHl

3) 0.1 % decrease

0.1 % ahHT

4) No changes

<hlg TiRac gl

Correct Answer: 1 % decrease

1 % hHl

Candidate Answer: 1 % decrease

1 % el

Question 69.

Find the angular elevation of the Sum when the shadow of a 15m
long pole is 1—2 metres
=

form §AT 15 moFd G o S = mEl
39 WA T & PO Sewtel AT BT

Options:
1) 45°
2) 60°
3) 30°
4) 90°

Correct Answer: 60°
Candidate Answer: 60°
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Question 70.If 2y B840 .ORLREIER MVSEWBIFBELBCH = 3 then what
is the value of x2 + 4y2 ?

gf 2y cosB = x sind 3R 2x sech - y cosech = 3 at x2 + 4y2 T ATF T &
?

Options:
1) 4

2) 1
3)2
4)5

Correct Answer: 4
Candidate Answer: 4

Question 71.The difference between compound interest and simple
interest on an amount of Rs. 15,000 for 2 years is Rs. 96. The rate of
interest per annum is?

Rs. 15,000 bl A UR 2 I & Aehgleg ATST 3R HTLRUT TSl o &l Rs.96
hT 3R g | dTSch ST &X feha=t gt ?

Options:

1) 6%

2) 7%

3) 8%

4) 9%

Correct Answer: 8%

Candidate Answer: 8%
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Question 72.In th@gHeIPPREEHARMNERE APt Estudy of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

[T TQ urg-are # &21 # 9rad, 1, I SR 917 o ITE I g
3 forar mam g1 FAafaifed g & IR U1k ot g SIS |

WHEAT
30%

55%

5%
TEA

From this diagram, the ratio of sum of wheat and sugar production to
difference in production of rice and tea is

39 3R oh AIR g 3R T eh el IUTGA dUT el IR AT oh ITe
oh 3= <Rl 31IUTd fohdAT 8 2

Options:
1) 4:5

4) 1:6
Correct Answer: 4:5
Candidate Answer: 4:5
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Question 73.In th@gHeIPPREEHARMNERE APt Estudy of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

T Tq urg-aré # &21 # Trad, 1, I 3R 919 o ITE I gD
31 fohar mam g1 fAafaifead g & IR UTh ot g SIS |

WHEAT
30%

55%

5%
TEA

The production of rice and tea is more/greater than production of
wheat by-

Tl 3R T ehT IcUTe g h It 9 fehd=1 Sa1er 8 2
Options:

1) 50%

2) 100%

3) 75%

4) 66.6%

Correct Answer: 100%

Candidate Answer: 100%
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Question 74.In th® §WeIPPREEHARMMNECH AP B study of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

T Tq urg-aré # &21 # 9rad, 1, I R 917 o ITE I gD
3 fohar mam g1 fAafaifed g & IR U1 ot Ugar SIS |

30%

5%
TEA

The Central angle of Wheat % is

g % Rl AL hivT fohaat feft h1 8 2

Options:
1) 48°

2) 98°
3)110°
4) 108°

Correct Answer: 108°
Candidate Answer: 108°
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Question 75.In th® §WeIPPREEHARMMECH AP B study of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

T Tq urg-are 7 g21 # 9rad, 1, I SR 917 o ITE I gD
31 fohar T g1 fAafaifead g & IR U1k ot Ugar SIS |

WHEAT
30%

55%

5%
TEA

The total production of Rice, Wheat, sugar and Tea (In Kgs) is 500000
Kgs. The production of Rice in the country is

T, Tig, DIt 3R A1 T pel It 500000 foh.TT. 81 &0 H DT hr
IATE fehdT 82

Options:

1) 175000 Kg

175000 fos.7m.

2) 395000 kg
395000 fx.m.

3) 275000 Kg
275000 k..

4) 27500 Kg
27500 for.mm.

Correct Answer: 275000 Kg
275000 fes. 7.

Candidate Answer: 27500 Kg
27500 fer.m.
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Question 76.In th® FNB\RAFHIERBOH VOt G BT alternatives,
choose the word which best expresses the meaning of the given
word and click the button corresponding to it.

CONTRABAND
Options:

1) BURGLED
2) SMUGGLED
3) BAFFLED

4) JUGGLED

Correct Answer: SMUGGLED
Candidate Answer: JUGGLED

Question 77.In the following question, out of the four alternatives,
choose the word which is opposite in meaning to the given word and
click the button corresponding to it.

LENIENT
Options:

1) STRICT

2) SOLID

3) FORGIVING
4) STOIC

Correct Answer: STRICT
Candidate Answer: STRICT

Question 78.Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word and click the button
corresponding to it.

Options:

1) Scarety

2) Scarcity

3) Scarsity

4) Scarecity

Correct Answer: Scarcity

Candidate Answer: Scarcity
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Question 79.In the following questions, one part of the sentence may
have an error. Find out which part of the sentence has an error and
click the button corresponding to it. If the sentence is free from error,
click the "No error" option.

He was(A) / very kind enough (B) / to invite me (C) / No Error(D).
Options:

1) A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may
have an error. Find out which part of the sentence has an error and
click the button corresponding to it. If the sentence is free from error,
click the "No error” option.

Police reports claim that (A) / substantial seizure of cocaine have
been made(B) / in the last two months.(C) /No Error(D).

Options:

1) A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 81.In th® PMR\RAFEIERBLHY Wi pattBfthe sentence may
have an error. Find out which part of the sentence has an error and
click the button corresponding to it. If the sentence is free from error,
click the "No error" option.

Every conceivable race and nationality(A) / had its shared of
suffering(B) / in the world wars (C)/No Error(D).

Options:

1) A

2) B

3)C

4) D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an
appropriate word(s). Four alternatives are suggested for each
question. For each question, choose the correct alternative and click
the button corresponding to it.

She him angrily because he made the floor dirty with his
muddy shoes.

Options:

1) scold

2) scolds

3) scolded

4) scolding

Correct Answer: scolded

Candidate Answer: scolded
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Question 83.The S¥1éHeRE YVERWItH BIaAREARE 48 be filled with an
appropriate word(s). Four alternatives are suggested for each
question. For each question, choose the correct alternative and click
the button corresponding to it.

He walked along the road wondering what happened and
where all the people had gone.

Options:

1) had

2) has

3) have

4) it

Correct Answer: had

Candidate Answer: had

Question 84.The sentences given with blanks are to be filled with an
appropriate word(s). Four alternatives are suggested for each
question. For each question, choose the correct alternative and click
the button corresponding to it.

The criminal was lest he should escape.
Options:

1) fetid

2) fettered

3) fettled

4) feted

Correct Answer: fettered
Candidate Answer: fettered

Question 85.In each of the questions, four alternatives are given for
the Idiom/Phrase. Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button corresponding to
it.

Drive home
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1) Find one's roots

2) Emphasise

3) Refer

4) Draw

Correct Answer: Emphasise

Candidate Answer: Find one's roots

Question 86.In each of the questions, four alternatives are given for
the Idiom/Phrase. Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button corresponding to
it.

To end in smoke

Options:

1) End without any practical result

2) End with positive result

3) Die in a burning house

4) Risk everything in a single venture

Correct Answer: End without any practical result
Candidate Answer: End without any practical result

Question 87.In each of the questions, four alternatives are given for
the Idiom/Phrase. Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button corresponding to
it.

A left handed compliment
Options:

1) A subtle rebuke

2) Wholesome praise

3) An ambiguous compliment
4) A mild compliment

Correct Answer: An ambiguous compliment
Candidate Answer: A subtle rebuke
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Question 88.0ut STIHE A At ErATt VSN ABIEESHE one which can
be substituted for the given words/sentences and click the button

corresponding to it.

Experts who scientifically study insects
Options:

1) Gerontologists

2) Pathologists

3) Entomologists

4) Ornithologists

Correct Answer: Entomologists
Candidate Answer: Entomologists

Question 89.0ut of the four alternatives, choose the one which can
be substituted for the given words/sentences and click the button
corresponding to it.

One who pretends to be what he is not
Options:

1) Hypocrite

2) Pessimist

3) Optimist

4) Infallible

Correct Answer: Hypocrite

Candidate Answer: Infallible

Question 90.0ut of the four alternatives, choose the one which can
be substituted for the given words/sentences and click the button
corresponding to it.

A paper/story/poem first written out by hand
Options:
1) Handicraft
2) Manuscript
3) Handiwork
4) Thesis
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Correct Answer: [gHideaged from www.qmaths.in
Candidate Answer: Manuscript

Question 91.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

The interview came alive by satellite from Hollywood
Options:

1) came as live

2) came live

3) came up live

4) No improvement

Correct Answer: came live

Candidate Answer: came up live

Question 92.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

There was little he could do to save his battered reputation
Options:

1) salvage

2) wreck

3) destroy

4) No improvement

Correct Answer: salvage
Candidate Answer: No improvement
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Question 93.A seP@HEEPEFRT6PThe Yentdmadhs ihderlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

It is_.much too important to be made a joke of
Options:

1) too much important

2) too many important

3) very much important

4) No improvement

Correct Answer: No improvement

Candidate Answer: very much important

Question 94.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

If he wants farther help, send him to me
Options:

1) further

2) much

3) best

4) No improvement

Correct Answer: further
Candidate Answer: further
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Question 95.A seP@HEEPEFRT6PThy Yentdmadhs ihderlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

He jumped on the lake
Options:

1) in the

2) into the

3) onto the

4) No improvement
Correct Answer: into the
Candidate Answer: into the

Question 96.A passage is given with 5 questions following it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

Mandarin Chinese is spokenby ___ people.
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1) little

2) few

3) many

4) big

Correct Answer: many
Candidate Answer: many

Question 97.A passage is given with 5 questions following it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

A person who is good at foreign languages is known as
Options:

1) Virtuoso

2) Linguist

3) Ventriloquist

4) Scholar

Correct Answer: Linguist

Candidate Answer: Linguist
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Question 98.A paSYR! RagRA IR Y HucktaH Bl lowing it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

are regional variations of a language
Options:

1) English

2) Mandarin Chinese

3) Home language

4) Dialects

Correct Answer: Dialects
Candidate Answer: Dialects
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Question 99.A paSYR! RagRA IR Y HucktiBH S Bl lowing it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

English also included French words
Options:

1) after

2) prior

3) before

4) during

Correct Answer: after

Candidate Answer: after

the Norman Conquest
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Question 100.A pRSYe PAGR EFPAtH 8\ TEeAEHS bllowing it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

is part of a Germanic language.

Options:

1) Britain

2) Anglo-Saxons

3) English

4) Roman Empire
Correct Answer: English

Candidate Answer: Anglo-Saxons
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